LECTURE 35: Bell's Theorem Q)
What T expect you to learn:

-How to compose systems of two spin 1/2
particles

-What is Bell's Theorem

(Roughly covers sections 6.10 and 17.3 of the textbook)
Notes:

= Problem set 5 due today

- I will post solutions to problem set 5 Friday afternoon. You need
to hand-in your problem set at the latest Friday in class.

- I will post a practice final exam with solutions next weekend

- Friday we will discuss finish today s material and discuss the exam

(FINAL EXAM: Dec 19th, 9-11am, BN2S)
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